
REŠITVE – 9. TEDEN, 1. in 2. URA: 

 

DZ str. 64, 65: Revision and extension 

 

1 

3 There are some biscuits. 

4 There are some peas. 

5 There’s an apple. 

6 There’s some rice. 

7 There’s some soup. 

8 There’s a baked potato. 

9 There’s an egg. 

10 There’s some salad. 

 

2 

2 How many 

3 How much 

4 How much 

5 How many 

6 How many 

7 How much 

8 How many 

 

3 

2 much 

3 many 

4 much 

5 many 

6 many 

 

4 

2 Do 

3 would 

4 would 

5 Do 

6 Would 

7 Would 

8 Do 

 

1 (Extension) 

Meat: 

beef – govedina 

lamb – jagnjetina 

pork – svinjina 

Fruit: 

cherries – češnje 

grapes – grozdje 

tangerine – mandarina 

watermelon – lubenica 

Vegetables: 

broccoli – brokoli 

cauliflower – cvetača 

onions – čebula 

sweetcorn – koruza 

 

 

Učb. 97: Preveri, ali znaš 

 

5 

1 an 2 some 3 a 4 some 5 some 6 a 

 

6 

2 (That’s not true!) There aren’t many skyscrapers in Exeter. 

3 There aren’t many trees in the Sahara Desert. 

4 There aren’t many people in Antarctica. 

5 There isn’t much traffic there. 

6 They don’t do much housework. 

 



Učb.str.98 

 

Study skills 

1 melt (clues: hot, ice cream) 

2 snooker (clues: play, table, games room) 

3 moon (clues: astronomy, stars) 

4 climb (clue: Mount Everest) 

5 storm (clues: couldn’t sleep, bad) 

6 dustbin (clues: six weeks old, Put them in) 

 

Correcting mistakes 

1 Will he win?  

2 How many people are there? 

3 Could I have some peanuts, please? 

4 When will they get home from school? 

5 What would you like to drink? 


